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= 76,000 76,000 0
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S 500,000 500,000 0
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= 76,000 76,000 0
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Al 3,927,884 3,926,373 1,511
o2y 2EXE 32,228 35,420 A3,192
2 Oit| 28,728 31,920 A3,192
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OS2 s 2 0H| 28,728 31,920 A3,192
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LB A 35,932 39,522 A3,50
ArR2Zte|H] 11,765 12,242 NATT
A2 246 2,523 3,000 N4TT
t2 &l 6,887 10,000 A3, 113
OJte 282 J|2ldAl 6,887 10,000 A3, 113
401 AIEHIZL R OHYI 19,952 24,000 N4,048
01 AlZHI 19,952 24,000 A4,048
OJtgEs2 Ald 2= 19,952 24,000 A4,048
e AlZ=2ste 23 32,300 32,660 A360
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SN 2R
ma: 230l IS
SH9l AIRIOI 23t0lE 4013 K2 (crol: m2)
A - BE - SR (IH) - HIRAY - BES 0] a0t /IR HlRE2
= 99,000 9,000 0
Al 0 231,000 £231,000
400 QIZHRH20IH 9,000 330,000 £231,000
= 99,000 99,000 0
Al 0 231,000 £231,000
02 SIZHHE A 2 (OIETHR) 9,000 330,000 £231,000
OOIEZHEHE 75 99,000 330,000 £231,000
= 99,000 9,000 0
Al 0 231,000 £231,000
BENY 245 1,974,626 2,001,678 227,052
= 29,000 29,000 0
Al 1,945,626 1,972,678 £27,08
BEROPIY 2835 289,285 291,290 22,005
= 19,000 19,000 0
Al 270,285 272,29 £2,006
BRESE JIEE MNE L 7Y 47,9% 50,000 22,005
201 2er2 ] 47,9% 50,000 22,005
01 Al 22l 47,9% 50,000 £2,006
OBH $4E 423 )IGE He 17,9% 20,000 £2,006
BBN 27| B 1,079,516 1,102,629 223,113
= 10,000 10,000 0
Al 1,069,516 1,002,629 £23,113
ORAIOFEHT S Z A BB ZI 271 7(TP0) DS A 3,758 20,800 A17,042
202 it 0 800 800
ENTTI 0 800 800
OTP0 ZSOPHIE 319 L S2HA Z4 Ol 0 800 A800
308 THXIEHHISOIE 3,758 20,000 A16,242
07 XX SRS 3,758 20,000 A16,242
OTP0 25lbl & HAZE TS0 HIg 3,758 20,000 A16,242
SUABY BSAY 0,198 31,200 A1,007
202 048] 193 1,200 A1,007
ETTT 193 1,200 A1,007
O3YA BBEISI 319 L EIHA &4
ol 193 1,200 A1,007
22 27 BE L N 230,936 236,000 75,064
201 Ler2H] 119,93 125,000 75,064
01 Al 22l 57,936 63,000 5,064
OR0I47| &3 54,936 60,000 5,064
BROIY B0 %N U 2Y 605,825 607,759 A1,9%
SO BBHLANS S (HEAE) 38,216 340,150 A1,9%
201 Ler2 ] 31,756 33,690 A1,94
01 Al 22l 28,966 30,900 A1,93%
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SA - BB CR(B) - AIRAY - BES Ofl by 3o C[ImE==l
||| O=stzasign sisasy 166 2,100 A1,984
2 e 25 2 2 8,623,652 9,818,563 A1,194,911
l 10,800 10,800 0
£ 500,000 500,000 0
= 3,642,000 3,642,000 0
S 150,000 100,000 50,000
Al 4,320,852 5,565,763 A1,244,911
2F3NAC =8 2 22X Fol 8,623,652 9,818,563 21,194,911
Jl 10,800 10,800 0
£ 500,000 500,000 0
= 3,642,000 3,642,000 0
X 150,000 100,000 50,000
Al 4,320,852 5,565,763 A1,244,911
2oL 2 23,253 23,644 A391
201 LetEaY| 23,253 23,644 A391
01 Al 2tefdl 7,653 8,044 A391
OZ&etHfA =R X 1,609 2,000 A391
22X ZHIArY 248,758 249,122 2364
201 £er2aY| 143,623 143,987 2364
01 Al 22lb| 19,636 20,000 364
o2& &l 19,636 20,000 364
OFEM U TUES BAAANL AR &4
=Xl 7,636 8,000 364
2RI (ZZ2EAHI0F HE22X SEAY) 702,240 1,400,000 A\B97,760
= 700,000 700,000 0
Al 2,240 700,000 A697,760
401 AIEBIL 20HH 322,240 1,020,000 AB97,760
= 320,000 320,000 0
Al 2,240 700,000 AB97,760
01 Al&H 319,040 1,016,800 697,760
OS==24HI0 U223 =4 319,040 1,016,800 267,760
= 319,040 319,040 0
Al 0 697,760 AB97,760
T (FZLAHOL 301 SE, 0ISA) 442 A 518,000 1,080,000 A512,000
e
401 Al&HIZL 2 0HL] 518,000 1,030,000 A512,000
01 Al&t] 518,000 1,030,000 A512,000
O30 NSSE STA AEIA 88,000 600,000 £512,000
HEE RAl 2+ X 22 209,848 163,797 46,051
x 50,000 0 50,000
Al 159,848 163,797 A3,949
201 £eH2aY| 36,771 37,720 2949
01 At 2teltl 10,251 11,200 A949
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A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
ONEY S2=M% 2,051 3,000 PaNeZite]
206 MHZHI 0 3,000 3,000
01 M=l 0 3,000 3,000
OHZEE ==AM A8l 0 3,000 3,000
401 AlZHIL S CHY] 125,000 75,000 50,000
x 50,000 0 50,000
Al 75,000 75,000 0
01 AlZHI 125,000 75,000 50,000
Ot NEAKNER JISHE SAt 50,000 0 50,000
= 50,000 0 50,000
(L) MY g2 & ZEAHE +8 B3 180,000 200,000 A20,000
401 AlZHIZ 2] 180,000 200,000 A20,000
01 A2 180,000 200,000 20,000
OZ2X(4H4) AlFAtY g2 & ZEH =
+8 8 180,000 200,000 20,000
OISAA 22X =F oA 219,553 230,000 A10,447
401 AlZHIL 2 0HY] 219,553 230,000 A10,447
01 Al 219,553 230,000 A10,447
OO0ISAHX 22X 23EH & |X2c 219,553 230,000 A10,447
Weas(2at2taait) 501,063 111,206 389,857
2ANE 501,063 111,206 389,857
2HXE 501,063 111,206 389,857
802 gtet=0Et 501,063 111,206 389,857
01 =NEXSEHES 358,312 2,935 355,377
OSE230IZSAXZ AL (01X E) 342,863 0 342,863
02017, 2018 =t S5 At
(OIXtEES) 12,514 0 12,514
02 Al - THIE XSS 142,751 108,271 34,480
OAZ=25td 283t AFZ(0IR}) 5 2,520 n2,515
02017, 2018 =3t oAl SHAIS
(OIX+2£ &) 3,551 0 3,551
OHNlBI&HAISHI XI¥ At (OIRFEE) 57 6,189 16,132
OSE230I1Z2AXIZ AL (01X E) 39,307 0 39,307
OH22t SSALXIZAIE (OIRZES) 1 0 1
02018 23tol=2l Hel ZEXIEA
(OIRFEE) 184 0 184
OAlZE 23H0I=XI2A (01 1 0 1
OXle 2= AAIS (Bztat) 78 0 78
OXle 23t =X A (01X 5 0 5
Y 2IIH(Se22 A 70,811 73,018 N2,207
Jl2&sl 25,307 27,514 n2,207
Jlz3hl 25,307 27,514 n2,207
201 Let2 3| 19,987 22,194 n2,207
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